SAMPLE QUESTIONS FISO

1) Solve K fi&:
0,6+ 0,08
2 _,
0.5 0-06
0,2
Al B) 1,5
)2 D)3

2) Find the value of x.

K x HYE -
xy=z+4]
zx=y+6;
z=5-Yy |
A1l B) 2
O3 D) 4
3) Find #11 —— =7
) Find #¢H \/1—5_
A YISy 1 405
3 9 27
A)5 B) 5 - 5V3
01 D)1-+3
4) Simplify f&k:
3(2—16)/2 ( 4x—y 4x+y
2 .2 | .2 2
X" +y x“+4xy x"—4xy
8 3
A) X B) Y
4x—y 4x—y
Q) X D)4x+y
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5) Find the value of x +y =?

Kx+y=?

13x+14y =36

14x+15y =39

A)-3 B) 6

C)3 D)9

6) Solve Kf#:

0,001+0,011 N 0,03(44,4-23,1) B
0,0111 0,3+0,033

A)3 B) 6

O 4 D) 1

7) Find the value of a(b + ¢) =?
K a(b+c)={E

a+b_b+2c_
c+3 6a-1

2

a+b+c=19 =

A) 32 B) 60
0) 15 D) 72
2
8) Find #i1t 3 — 5 =7
ST
3———>
3_3T
A)3 B) 2
05 D)7

?
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9) Solve K fi&:

A
<+

>
m(ABC) = x+10°
m(BCF)=3x+200 AB//FG
m(EDG)=55"—x  DELCF
m(CFG) =" DG L FG
A) 125 B) 135
C) 150 D) 140

10) The number of real solutions of the

equation
JIRERE R

[2x — 3| + x = 18 s,
A)3 B) more than 3
O1 D)2
11) Evaluate {#&:
2(1-9+3(1-H+4(1-H++22(1-2)
A) 231 B) 321
C) 123 D) 720

12) Simplify (L

x+\/x+\/x+\/x+ =5

A) 10 B) 20
Q)18 D) 25
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13) Let d and e denote the solution of
x? 4+ 5x + 6 = 0. What is the value of
(d—1)(e—1)?

d fll e FIRHIIEF HZEx® + 5x + 6 = 0.
(d-T)(e-1) (YEREZD ?

A)3 B) 12
08 D) 10

14) What is the 202374 letter in this
sequence?

EBFFY 520237 (BIF R HEE ?
FISO2023FISO2023FISO2023....

A) F B) 3
0O D) 2

15) Solve this equation Kfi#3E (E /712
X 5

x+1_x—1=1
2 5
A)_E B)E
C) 4 D)1

4% 8%
5

125

16) If 2* = 5 is given, work out — +

R4 2% = 5 is given, FFEIL -+

8x

125

A) 32 B) 6
O1 D) 12

17) Find the value of x. K x iY{H

32x+3 _ \[36x
A)2 B) 9
03 D) 8
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18) Assuming a # 4,b # 9, and

¢ # 10, what is the value in the simplest
form of the following expression?

5% a#4 > b#9 > i H c#10 » NHIFREES
HY i S B A E =R %) 2

a—4 b 9 c—10
10—c 4—a 9—b

A)-1 B) ab

O1 D)a+b

19) Suppose that 32¢ = 4,430 =5,

54 =6 and 6°% = 27 .Whatisa-b-c-d?
(B34 that 32% = 4,430 =5,

5% =6 f16°4=27.a-b-c-dEHmE

A) = B) —

40 40
01 D)2
20) Solve KfZ:

B+B+=9
©+8+@=12
+o@=??

A)5 B) 15
0 19 D) 22
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21) Find #%4:
( V5612 — 45;3220+4\/—>

4— 0,15+4-:—

Answer [B]&:

22) The dimensions of a rectangular field
are 108 m and 144 m respectively. A famer
wants to plant trees around the field so
that the trees are equally spaced with the
greatest possible distance between each
tree. How many trees does the farmed
need?

FEFE Y RT3 1 Ry 108 oK #1144 5K - —{iz
2 B TEAE Pt R [ et > (SRR T RE AT
% FREZEREEER TR - ERES
DHRASS 2

Answer [0

23) Find the value of 2x -y + 2z =?
KW 2x -y +2z=?

X+y-z=0

3X-y+z=4

2X+2y-z=9
Answer [0
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24) Find the sum of surface area and
volume of this figure.

KIE(EE IR AR Z A -

2cm 3cm

2cm 4cm

3cm

4cm

8 cm

Answer [B]Z:

25) What is the value of this expression?

B R EXAVE R ?

3+6+9+--+2001+2004—-4—-8-12
—--—2020 — 2024 =?

Answer [0
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